
On multiplie 

 

GRAND 
Cadre rectangulaire 

CE 348248 - 20 à 24 parts 
= 2 MOYEN cadres  x 2 

 

GRAND 
Cadre rectangulaire 

CE 348248 - 20 à 24 parts  
= 1 cercle + ½ cercle x 1,5 

 

MOYEN 
Cadre rectangulaire 

CE 237169 - 8 à 10 parts 
= ¾ du cercle   x 3 et : par 4 

 

PETIT 
Cadre rectangulaire  

CE 168117 - 5 à 6 parts 
= ¼ du GRAND cadre : 4 

 

PETIT 
Cadre rectangulaire  

CE 168117 - 5 à 6 parts 
= ½ du MOYEN cadre : 2  

 

Cercle inox 22 cm 
MA 371806 

= MOYEN cadre + 1/3  x 1,33 

 

Cercle inox 22 cm 
MA 371806 

= 2/3 du GRAND cadre  x 2 et : 3 

 


